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QUADRATIC EQUATIONS WITH COMPLEX COEFFI-
CIENTS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

You have no idea, how much poetry there is in the calculation of a table of logarithms!
Carl Gauss, German mathematician.

Match the quadratic equations with their solution sets.
Quadratic equations:

1 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

2 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

3 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

4 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

5 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

6 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

7 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

8 x2 + 5 + 12 i = 0x2 + 5− 12 i = 0x2 + (4 + 6 i)x − 5 + 12 i = 0x2 + (4− 6 i)x − 5− 12 i = 0x2 − 6 ix − 13 = 0x2 + 6 ix − 13 = 0x2 − (4 + 6 i)x − 5 + 12 i = 0x2 − (4− 6 i)x − 5− 12 i = 0

Solution sets:

A {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}

B {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}

C {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}

D {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}

E {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}

F {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}

G {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}

H {−2 + 3 i; 2− 3 i}{−2− 3 i; 2 + 3 i}{−2− 3 i}{−2 + 3 i}{−2 + 3 i; 2 + 3 i}{−2− 3 i; 2− 3 i}{2 + 3 i}{2− 3 i}



You can go celebrate!Wow! Do your friends by any chance
call you Wolfram or maybe Alpha?

You are the champion!Amazing! Incredible!Wait! Sheldon might get jealous!Good work, have a biscuit.You are so close to victory,
don’t give up!

A small step remains,
next time will be glorious!

It almost couldn’t have been better.
Almost.

Great! Only millimetres
away from perfect.

It is not bad, but it could be better.Making mistakes is better than faking
perfection.

Not great, not terrible.
You are somewhere in the middle.

All great scientists made some mistakes
in their life. Just like you.

You can do better! You have to work
harder!

That didn’t end up very well.
You should study more.

Are you keeping your energy for later?You got it. Don’t throw in the sponge!Could be worse!Ehm, you aren’t Jesus walking on water.
Get back on the ground!

Let’s pretend it never happened.Your math knowledge
is just like the square root of −1.

Have you ever seen the way a chicken
flies?

You solve math problems that way. . .

The awkward moment, when you finish a
math problem and your answer isn’t

even one of the choices. . . .

This is like a foreign movie to you;
you still need subtitles.




